200" Min To Pipe Joint
. % 2°x 6" Beam
A
| |
T ; T
T = % Y
j 11
Pipe -
PLAN

For Pipe Joint

Connection See
Spillway Genera
Layout

8”
»‘ L 8-0"
LT
{$ Eif“ REIEas T
s% :
See Detall M — ey
Pointing Of
Y Pile Optional

SECTION ON CENTERLINE OF PIPE

DETAIL M

> 2"x 4" Header

Y

<
*

]

Flat Washer

5/8" Dia Bolt
10" Long

X 27x

DETAIL N

Flat Washer

5/8" Dia Bolt
12" Long

4" Brace

>* 2"x 4" Brace

% 2"x 6" Beam
Flat Washer

5/8" Dia Bolt
6" Long

DETAIL P

ETAILS M\N & P FOR 21" AND 24" PIPES

10'=0" Min

Detail N

I“l 9" B

0.. Of Pipe

4

Detail M
Detail P

oe ¥

ELEVATION

See Detail M

Landowner

Location

NOTES:

1. Piles shall be 8" diameter.

2. All wood materials used shall be pressure

treated with a wood preservative and

indicated by a marking which gives

species. Preservative, retention, supplier

and year of treatment are to be as

required in AWPA standard C2, 0.40 pcf

retention.

Piles shall be notched as shown.

All nuts, bolts and washers shall be

galvanized.

Structure is symmetrical about centerline.

All bracing shall be able to withstand a

minimum of 1450 pounds per square

inch flexure stress and 120 pounds per

square inch horizontal shear stress.

7. Bracing shall be placed and bolted tangent
to the pipe.

LEGEND:
> = Nominal dimension

&~

o O

Not To Scale

Date

TIMBER SUPPORT—PROPPED OUTLET jpesorea — — — —

M. QUINONES

Checked  __ __ __ __ ___

FOR 8" THROUGH 24" DIAMETER [
METAL PIPE

S NRG

United Statee Department of Agriculture

Flle No.

IL-ENG-174

|Drawing No.
Page 1 of 2

Sheet of




> 2"x 4" Header

Flat Washer

5/8" Dia
Bolt 12" Long

> 2"x 4" Brace

% 2"x 4" Beam
Flat Washer

Not To Scale

5/8” Dia Bolt
6" Long
> 2"x 4" Brace
DETAIL M DETAIL N DETAIL P
DETAILS M,N AND P FOR 8" THROUGH 18" PIPES
BILL OF MATERIAL
PIPE DIAMETER 8" 10” 12 15" 18" 21" 24"
ITEM SIZE  [QUANTITY LENGTH OF ITEMS FOR PIPE DIAMETER
Piles 8" Dia 2 10'-0"({10’-0"[10'-0"|10’-0"|10’-0" {10’-0" [10’-0"
Heoder 2”X 4” 1 3’—8” 3’—8” 3’—8” 3’—8” 4’—8” 4’—8” 4’—8”
Beoms 2”X 4” 2 3’_8” 3’_8” 3’—8” 3’_8” 4’_8” o o
Beams 2°x 6" 2 — | — | —— | | —— | #-8" | #-8"
Braces 2"x 4" 2 2-3"|2-4"|2-5" | 2-6" | 3-3" | 3-4" | 3-5" TABLE OF DIMENSIONS
Bolts & Nuts 5/8" DIA 4 6 6" 6" 6" 6" 6 6" PIPE DIAMETER g” 10 | 12" [ 15" | 18” | 21" | 247
Bolts & Nuts 5/8" DIA 8 10" 10" 10” 10" 10" 10" 10" A I-0"[3-0"|3-0"|3-0"[4-0"|4-0"|4-0"
Bolts & Nuts | 5/8" DIA 4 127 | 12" | 127 | 12" | 12" | 127 | 12 B 2-3"|2-4"|2-5" | 2-6" | 3-3"| 3-4" [ 3-5"
Washers (Flat) 5/8" 32 SN N PP NN (N [ —
Landowner Location

Date

M. QUINONES

Checked _ __ __ __  _ ___
Approved

TIMBER SUPPORT—PROPPED OUTLET jpesorea — — —
FOR 8" THROUGH 24" DIAMETER [
METAL PIPE

O NRCS

Natural Resources Conservation Service
United States Depariment of Agriculture

Flle No.
| IL-ENG-174

|Drawing No.
Page 2 of 2

Sheet of




